[19:9.9.9.9.0.0:9:0:9:9:9.9.9.0.0.0.0:0:0:9:9:9.9.9.9.0.0.0.0.0:9:0:0.9.9.0.0.0.0.0:0:0:0.9.9.9.9.0.0.0.0:0:0:0:0.9.9.9.0.0.0.0.0:0:9:0.9.9.0.0.0.0.0.0:0:0:0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00001XX
Real02 for No.9844

d=[p(x)=x"-4x+4x+2,¢=3]
2=[p(x)=x'+4x-4x"-2,¢c=-1]

2
No0l = .3=[p(x)=—9x—5+3x3+2x2,c=ﬂ

5
-4={p(X)=10x4—19x3—15x2—8x+27,c=ﬂ

.I:[Nj):x+La@):f—4x%ﬂf+m]
2=[b(x)=x-3,a(x)=x"-3x +mx+3]
3=[b(x)=x—m,a(x)=x"—12x+33, r=-2]
4=[b(x)=3x—4,a(x)=-16x"+12x=21+mx’, r=-5]
| J=[p(x)=x+x=25x—25] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+64]
4=[p(x)=x"-16]
S=[px)=x"-2x"+x"—4x+4]
GH=[p(x)=x"-3x"-21x*+43x+60]
7=[p(x)=15x"+58 x> + 68 x + 24]

| 8=[p(x)=9x"+12x =41 x> —48 x +20]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00002XX
Real02 for No.9872

No02 =

No03 =

.]:[mj):x4—5x2—3x—5,c:2]
2=[p(x)=x"+2x+5x+2,c=-3]

-5
NoOI=|.3=|p(x)=—6x—12+ 15x4+25x3,c=ﬂ

1
.4:[p(x):—6x—2+4x4—2x3,c:EJ

d=[bx)=x-1,ax)=mx’ +x' —x"+2x-2]
2=[b(x)=x+3,a(x)=x"+3x"+m-3x]
3=[bx)=2x+La(x)=2x+8x'~T—6x+mx’, r=-4]
4=[b(x)=x-m,a(x)=x"—2x-21,r=3]
L I=[p(x)=x"+2x=25x—50]
2=[p(x)=x"=26x"+25]
3=[p(x)=x-27]
4=[p(x)=x"-256]
S=[p(x)=x*—x"—28x*—20x +48]
6=[p(x)=x'+6x"+13x"+14x+6]
7=[p(x)=6x —11x"=17x+30]

4 3 2
L.8=[p(x)=10x" -37x +35x " +4x—-12]]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKXKXXKXKXKXKKXKXKX

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00003XX
Real02 for No.9873

d=[p(x)=x"-3x"-4x-1,c=1]
2=[p(x)=x'"-4x"+3x+1,c=-2]

-3
No0I = .3:[p(x):10x+8x2,c:z}

4
.4=[p(x)=6x4—2x3—8x2+9x—10,c=5}

.]:[b(x):x+2,a(x):x4+2x3+mx—4]
2=[b(x)=x-3,a(x)=mx +x" +2x—6]

No02 = 5
d=[blx)=x-m,a(x)=x"-3x+7,r=5]
4=[b(x)=3x—-4,a(x)=24x-19+6x + mx’, r=-3]
= [p(x)=xX"+4x"-9x-36] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"=27]
NoO3 - 4=[p(x)=x"—-256]

S=[px)=x"-4x -2 +17x-6]
G6=[p(x)=x"+12x+49x" + 78 x +40]
J=[p(x)=12x +11x* =23 x+6]

| 8=[p(x)=15x"=52x" -6 +76 x + 15]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00004XX
Real02 for No.9884

.]:[p(x):x4—3x3+x+5,c:3]
2=[p(x)=x"-2x"+4x+1,c=-2]

2
NoOI =|.3 = p(x)=—6x2—13x+9x4+6x3—4,c=ﬂ

1
.4:{p(x):6x4+x3—2x2—8x+ll,c:E}

A=[b(x)=x- 1,a(x)=x4—x3—2x2+m]
2=[b(x)=x+2,a(x)=mx +x —4x+16]
3=[b(x)=x—m,a(x)=x"—x—-23,r=-3]
4=[b(x)=3x—-1,a(x)= 15x4+7x3—4x2+4+mx,r:2]
I d=[p(x)=x"+4x"~9x-36] |
2=[p(x)=x"—17x"+16]
3=[p(x)=x"+38]
4=[p(x)=x"-1]
S=[p(x)=x"-3x"~14x" +48 x - 32]
6=[p(x)=x'+4x"+7x* +8x+4]
T=[p(x)=6x—-7x - 14x+8]

4 3 2
L.8=[p(x)=20x"—-81x +52x" +45x—36]]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXXKKXKKKXKKXKKKXKKKKK

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXME/1-6600104-00005XX
Real02 for No.9885

d=[p(x)=x"+3x"=5x-2,c=1]
2=[p(x)=x"+4x"+2x"+2,c=-3]

5
No0l = .3:[p(x):—18x3+20x2+4x4+4x— 13,c=ﬂ

-2
.4={p(x)=—6x—2+12x4+8x3+9x2,c=;}

A =[b(x)=x+2, a(x):x4+mx2—2x3— 12]
2=[b(x)=x-3,a(x)=mx +x" —4x"—18]

No02 = ) 3
J=[b(x)=3x+4,a(x)=9x"+9x -1l +mx,r=5]
A4=[b(x)=x—-m, a(x):x2—2x+4,r:7]
= [p(x)=x+2x"-25x-50] |
2=[p(x)=x"—17x"+16]
3=[p(x)=x"+27]
NoO3 — A=[p(x)=x"-1]

S=[px)=x"-6x"+13x - 16x+12]
G=[p(x)=x"+14x +65x"+112x+60]
T=[p(x)=15x—17x* =24 x - 4]

L8=[p(x)=12x"=59x" + 61 x* +36 x—36].

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00006XX
Real02 for No.9895

d=[p(x)=x"—4x+2x"+2,¢=2]
2=[p(x)=x'+4x —4x-1,¢c=-3]

-1
No0l = .3={p(x)=x3—x2+6x4—1,c=;}

4
.4=[p(x)=—20x3+ 16x2+6x4—5,c=§}

A =[b(x)=x+2, a(x):x4+x3+mx—4]
2=[b(x)=x—-La(x)=x"+mx’—x+4]
3=[b(x)=3x-5,a(x)=12x-15+9x" - 10"+ mx’, r=5]
A4=[b(x)=x—m, a(x):x2+2x—7,r:1]
d=[p(x)=x+3x"—x—3] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x"—8]
4=[p(x)=x"-625]
.5:[p(x):x4+5x3+4x2—7x—3]
GH=[p(x)=x"+5x-13x*=53x+60]
T=[p(x)=8x+30x*+27 x+5]

4 3 2
L8=[p(x)=20x"—67x"+83x"—45x+9]]
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKXKXKKXKXKXKXKKXKKXKXKK

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00007XX
Real02 for No.9898

d=[p(x)=x"+2x"-5x-3,c=2]
2=[px)=x"+2x-3x"-1,c=-3]

5
No0l = .3:[p(x):8x4—20x3—6x2+11x+6,c=5}

-4
.4=[p(x)=12x2+19x+15x4+20x3+2,c:?}

.]:[b(x):x+3,a(x):x4+3x3+m+x]
2=[b(x)=x-Lax)=x'-2x +mx—3]
J3=[b(x)=x—-m, a(x):x2+6x+ 10, 7=15]

4=[b(x)=2x+1lLa(x)=-Tx—-11+2x+10x" + mx’, r=-7]
| d=[p(x)=x+5x"—9x—45] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"+27]
4=[p(x)=x"-81]
S=[p(x)=x"=5x"-5x"+45x-36]
6=[p(x)=x"-3x"-8x"+26x—12]
J=[p(x)=12x+25x*-31x+6]

L 8=[p(x)=12x"—67x>+129 x> =96 x + 201

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00008XX
Real02 for No0.9899

No02 =

No03 =

.]:[p(x):x4+5x2+2x—5,c:1]
2=[p(x)=x"+4x =5x-5,c=-3]

-4
NoOI =|.3 = p(x)=l3x2—13x+12x3—5,c=?:|

5
.4:[p(x):—28x+25+2x3+3x2,c:5J

A=[b(x)=x+2, a(x):x4+mx2+5x—14]
2=[b(x)=x-3,a(x)=x"—xX +mx—4x"— 18]

No02 = 4 ;
J=[b(x)=3x+4,a(x)=6x+7+9x +mx,r=-1]
.4:[b(x):x—m,a(x):x2+3x—4,r:6]
= [p(x)=x-3x—4x+12] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x"—8]
No03 - 4=[p(x)=x"—1]

S=[p(x)=x'+4x —7x*—34x-24]
.6=[p(x):x4+x3—8x2+2x+4]
7=[p(x)=10x" — 43 x* + 58 x — 24]

4 3 2
LE8=[p(x)=9x —24x" -26x" +56x—15]]
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXXKXXKXXKXKXKXKKXKXKKXKKXKKKKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXME/1-6600104-00009XX
Real02 for No.9920

d=[p(x)=x"+2x"-2x-5,c=2]
2=[p(x)=x"+3x+x+3,c=-3]

1
No0l = .3:{p(x):6x2+3x+2,c:g}

4
.4={p(x)=3x—2+12x3+16x2,c=ﬂ

.]:[b(x):x+l,a(x):mx3+x4—2x2—2x—l]
2=[b(x)=x-2,a(x)=x"+mx’=3x —4x+16]

No(2 = 3 )
d=[b(x)=3x—-1,a(x)=6x" —-2x"+9x+m,r=2]
A4=[b(x)=x—-m, a(x):x2+3x—29,r:-l]
= [px)=x-2x-x+2] ]
2=[p(x)=x"—25x"+144]
3=[p(x)=x+1]
NoO3 4=[p(x)=x"-16]

S=[px)=x"-7x+18x* =22 x+12]
G6=[p(x)=x"+x —19x"+11x+30]
7=[p(x)=20x -89 x>+ 93 x — 18]

L 8=[p(x)=8x"-22x" +x*+25x-6]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00010XX
Real02 for No.10000

d=[p(x)=x"-4x +4x-5,¢c=3]
2=[px)=x"+2x -4x"+3,c=-2]

1
No0l = 3= p(x)=2x2—5x+7,c=5}

-4
-4:{13()6): 125 +25x° +24 x + 17,02;}

.]:[b(x)=x+l,a(x):mx3+x4—5x—11]
2=[b(x)=x-3,a(x)=x"+mx"-2x"]

No(2 = B 3 )
JI=[b(x)=2x+3,a(x)=4x +6x +8x +mx,r=0]
.4:[b(x):x—m,a(x):x2—2x—l3,r:—5]
= [p(x)=x-5x"—4x+20] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x+1]
No03 — 4=[p(x)=x"-256]

S=[p(x)=x"-5x"=10x>+20 x + 24]
6=[p(x)=x"+9x +24x*+19x+3]
T=[p(x)=15x +17x" =24 x + 4]

4 3 2
L8=[p(x)=6x +7x —43x" — 84 x—36]
X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXKKKXKKXX KKK KKK XKKKKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00011XX
Real02 for No.10017

d=[p(x)=x"-x—x-1,¢=2]
2=[p(x)=x"-x*-5x-1,c=-1]

-1
No0l = .3:[p(x):—7+4x4+2x3+8x2,c:z}

2
.4={p(x)=15x4—10x3—6x2—8x+2,c=§}

.]:[b(x):x+l,a(x):mx3+x4—3x+1]
2=[b(x)=x-2,a(x)=x'+mx’—4x+12]
.3:[b(x):Sx—Z,a(x):9x3—6x2—7+mx,r:—1]
4=[b(x)=x-m,a(x)=x"—8x+22,r=7]

= [px)=x"+2x"—16x-32]
2=[p(x)=x"—41x"+400]
3=[p(x)=x"—1]

NoO3 .4j[p(x3=x4—21]
S=[plx)=x"+2x -13x" - 14x+24]
6=[p(x)=x"-x—8x"+11x-3]
T=[p(x)=9x +36x"+17x—-30]

| 8=[p(x)=6x"+13x—16x" =53 x—30]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00012XX
Real02 for No.10057

No02 =

o I=[p(x)=x'—4x+5%+1,c=2] |
2=[p(x)=x"+5x—x+3,c=-1]

-3
No0Ol =| 3= p(x)=x—6+8x3+18x2,c=3}

5
.4=[p(x)=6x3—4x2—10x+7,c=ﬂ

.]:[b(x)=x+3,a(x):mx3+x4—5x+12]
2=[b(x)=x-Lax)=x"+mx’+2x —=5x+2]

No02 = .0
J=[b(x)=3x-4,a(x)=-5+6x"-8x +mx,r=-1]
.4:[b(x):x—m,a(x):x2+3x—16,r:2]
= [p(x)=x-3x—16x+48] |
2=[p(x)=x"=34x"+225]
3=[p(x)=x"+38]
No03 — 4=[p(x)=x"—1]

S=[p(x)=x"-2x-9x"+16x—-6]
6=[p(x)=x"-7x +5x+31x—-30]
J=[p(x)=15x+28x" -7 x—-20]

4 3 2
L8=[p(x)=16x"+16x —49x" — 19 x + 3014
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXXKKX KKK XKKXKXKKXKKKKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00013XX
Real02 for No.10061

d=[p(x)=x"-4x+5x+1,c=3]
2=[p(x)=x"-x"-2x-3,c=-2]

5
NoOI = .3=[p(x)=—32x+ 19+12x" + 15x4—25x3,c=ﬂ

-1
.4=[p(x)=2x2+x+4,c=z}

d=[b(x)=x+1a(x)=x"-3x —x"+m]
2=[b(x)=x-3,a(x)=mx’+x" = 5x-12]
3=[b(x)=x-ma(x)=x"+2x-32,r=3]
4=[b(x)=2x-3,a(x)=8x"-10X +8x— 11 +mx’, r=1]
[ I=[px)=x’+2x-25x-50] |
2=[p(x)=x"-29x"+100]
3=[p(x)=x"+64]
4=[p(x)=x"-256]
S=[p(x)=x"—14x" +65x" - 112x+60]
6=[p(x)=x'—6x+5x"+8x—4]
T=[p(x)=6x +25x"+34x+15]

L8=[p(x)=15x"+62x"+45x" - 26 x— 24].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00014XX
Real02 for No.10071

No02 =

No03 =

d=[p(x)=x"-3x"+4x+4,c=3]
2=[p(x)=x'+4x —4x-1,c=-2]

1
NoOI =|.3= p(x)=—11x3+3x2+1ox4—8x+3,c=ﬂ

4
.4={p(x)=12x+9—16x2+9x4,c=;}

d=[b(x)=x-2,a(x)=x"+2x"—4x"+m]
2=[b(x)=x+3,ax)=x"+mx’+2x’ +5x-12]
3=[b(x)=2x+5ax)=15+7xX +6x +mx,r=-5]
A4=[b(x)=x—ma(x)=x"+10x+15,r=-6]
| d=[p(x)=x—x"-9x+9] ]
2=[p(x)=x"-29x>+100]
3=[p(x)=x"+125]
4=[p(x)=x"-81]
S=[p(x)=x"-5x+3x"+7x-2]
6=[p(x)=x"+3x-7x" =27 x—18]
7=[p(x)=10x" -7 x" =37 x—-20]

4 3 2
L.8=[p(x)=8x —18x" —=9x"+23 x+6]]
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKKXKXXKXKXKXKKXKXKKXKKXKKKKXKK

No(2 =

No03 =




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA/1-6600104-00015XX

Real02 for No.10088

d=[p(x)=x"-3x+x"+5,¢=3]
.2=[p(x)=x4—x2+x+4,c=-1]

-5
No0l = .3=[p(x)=2x4+5x3—2,c=ﬂ

2
.4=[p(x)=—9x3+2x2+9x4—4,c=g}

d=[b(x)=x- l,a(x):mx3+x4+2x2+5x—8]
2=[b(x)=x+3,a(x)=x"+4x +2x" +m]

No02 = ) 3
J=[b(x)=2x+5,a(x)=18x"+8x" —18+mx, r=-3]
.4=[b(x):x—m,a(x)=x2+x—12,r:-6]
= [p(x)=x’+4x*—25x-100] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"+38]
NoO3 — 4=[p(x)=x"—625]

S=[px)=x"-7xX +16x* - 14x +4]
G6=[p(x)=x"+5x-7x" =29 x+30]
T=[p(x)=15x -22x>+3x+4]

4 3 2
L8=[p(x)=15x"-29x-73x* + 81 x — 18]
):9,9,9:0.0.9.9.9.9.9.:0:0.9.9.9.9.9.9:9:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9.0.:0.0.9.9.9.9.9.:9.:0.0.9.9.9.9.9.0.:0.0.0.9.:9.9.9:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXME/1-6600104-00016XX

Real02 for No.10385

d=[p(x)=x"-2x"-5x-3,c=2]
2=[p(x)=x'+2x-4x"-4,c=-1]

-5
NoOI =|.3= p(x):2x3+l3x2+28x+16,c=5:|

3

.]=[b(x):x—2,a(x)=mx3+x4—3x—2]
2=[b(x)=x+lLa(x)=x"+2x +mx+5x"—4]

4
.4:[p(x):—7x2+4x+3x3—3,c:—J

No02=|" SN
JI=[b(x)=2x-1,a(x)=6x —x " —x+m,r=-3]
.4:[b(x)=x—m,a(x):x2—10x+25,r:4]
| I=[p(x)=x"+3x"—4x—-12] 1
2=[p(x)=x"—25x"+144]
3=[p(x)=x"—64]
No03 — 4=[p(x)=x"-81]

.5:[p(x):x4—x2+4x—4]
GH=[p(x)=x"+2x -7x"=20x—-12]
T=[p(x)=9x+36x>+47 x+20]

4 3 2
L8=[p(x)=12x"+25x +13x " —x—1]]
O0:0:0:0:010:0:0:0:0:0:0.0:0.0.0:0:0.0:0.0:0.0.0.:0:0.0:0:0.0:0.0.0.0.0.:0:0.0:0.0.0:0.0.0.0.0.0.0:0:0.0.0:0.0.:0.0:0:0.0:0¢

X [Page = 0008]



)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00017XX
Real02 for No.10387

d=[p(x)=x"-4x+3x+2,¢=3] |
2=[px)=x"-x*+3x-3,c=-1]

-1
No0l = .3=[p(x)=—8x—1+4x3+2x2,c=ﬂ

5
.4=[p(x)=9x2—6x—14,c=§}

A=[b(x)=x+ 1,a(x)=x4+mx2—4x—3]
2=[b(x)=x-3,a(x)=mx +x —4x"+9]

No02 = 5
J=[b(x)=x-m,a(x)=x"-9x+11,r=-3]
4=[b(x)=2x+5,a(x)=18x =5x"+8x" +8x+m, r=-4]
I d=[p(x)=x—4x"—9x+36] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"—125]
NoO3 — A=[p(x)=x"-1]

S=[p(x)=x"+3x+x"+x-6]
GH=[p(x)=x"+3x—14x* - 48 x - 32]
7=[p(x)=20x+79 x>+ 51 x — 18]

L8=[p(x)=20x"—21x"—176 x* + 189 x — 36 ]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00018XX
Real02 for No.10914

d=[p(x)=x"-3x"+4x-2,c=2]
2=[p(x)=x'-4x+3x-1,¢=-1]

5
NoOl=|  3=|p(x)=-26x"+10x+ 12x3—3,c=ﬂ

5
.4=[p(x)=—12x+27—8x2+4x“+10x3,c=ﬂ

A =[b(x)=x+2, a(x)=x4+mx—2x2+2]
2=[b(x)=x-3,a(x)=x"+mx’—2x —=2x-21]
3=[b(x)=x-m,a(x)=x"—8x+1,r=-6]
4=[b(x)=2x+5,a(x)=10x"+31x +15x - 4x+m,r=1]
I J=[p(x)=x +x=25x—25] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"—64]
4=[p(x)=x"-81]
S=[px)=x"+5x-7x"—41x-30]
GH=[p(x)=x"+6xX+4x-9x-2]
T=[p(x)=15x —44 x* +41 x — 12]

4 3 2
| 8=[p(x)=12x" 43’ +46 - 17x+2]]
X [Page = 0009] XXXXXXXXXXKXXXXXXXXXXXKXKXXXKXXKXKXKXKKXKXKXKXXXKXKKXKXKXXKXKKXKXKXKXXKKXKKXKXKKKKKKXK

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00019XX
Real02 for No.10945

d=[p(x)=x"-5x"-3x+5,¢c=1]
2=[p(x)=x"+4x—2x+2,c=-2]

-3
No0l = .3:[p(x):6x4+9x3—4x,c:z}

4
.4=[p(x)=3x2+8x—14+15x4—20x3,c=5}

d=[b(x)=x+ l,a(x):x4+3x3+mx—3x2+5]
2=[b(x)=x-2,a(x)=mx +x' —4x" +x-2]
3=[b(x)=2x-5,a(x)=6x—-13+2x" -3 +mx’, r=2]
A4=[b(x)=x—m, a(x):x2—8x+5,r:-2]
I d=[p(x)=x+x*—9x—9] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+8]
4=[p(x)=x"-625]
S=[p(x)=x"=10x"+25x" - 36]
6=[p(x)=x"-8x"+20x*—16x+3]
T=[p(x)=16x+72 x>+ 77 x + 15]

L 8=[p(x)=16x"—40x" =3 x*+43x-10]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00020XX
Real02 for No.10954

No02 =

No03 =

d=[p(x)=x"-3x+2x+1,¢c=3]
2=[p(x)=x"-5x"=5x-3,c=-1]

4
No0l = .3=[p(x)=9x4+ 12x3+4,c=ﬂ

5
.4:[p(x):2x3—5x2—8x+27,c=5}

A=[b(x)=x-2, a(x):x4—3x3+5x2+m]
2=[b(x)=x+Lax)=mx +x +4x+4]
3=[b(x)=x—m,a(x)=x"—2x—11,r=-3]
.4:[b(x):3x—2,a(x):3x4—2x3—6x+7+mx2,r:3]
I d=[p(x)=x+4x>~9x—36] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"-38]
4=[p(x)=x"-625]
.5:[p(x)=x4+x3—8x2—5x+3]
GH=[p(x)=x"-3x" =21 x*+83x-60]
J=[p(x)=15x -7x* =24 x+16]

4 3 2
L.8=[p(x)=20x"-93x +82x" +57 x— 18]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXKXKXXKKXKXKKXKKXXKKXKKKXKKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXXXXXXXXKXME/1-6600104-00021XX
Real02 for No.10966

d=[p(x)=x"-2x"-3x-1,c=2]
.2=[p(x)=x4+x3+x2+2,c=-l]

1
No0l = _3:{p(x)=—6x2+2x+9x4—3x3+4,c=§}

-3
.4=[p(x)=—6x—4+2x4+3x3,c=;}

.]:[b(x):x+l,a(x):mx3+x4+3x+7]
2=[b(x)=x-3,a(x)=x"-3xX +mx—2x"+18]

No02 = 4 ;3 )
d=[b(x)=3x+4,a(x)=9x +18x +8x +3x+m,r=2]
.4=[b(x):x—m,a(x):x2+4x+7,r:4]
| d=[p(x)=x—2x"—x+2] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"—1]
NoO3 - A=[p(x)=x"-1]

S=[p(x)=x"+4x -2x" - 17x-6]
6=[p(x)=x"-9x"+28x*—36x+16]
J=[p(x)=4x+4x>=23x-30]

L8=[p(x)=20x"+107x + 197 x* + 144 x + 36
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00022XX
Real02 for No.11154

d=[p(x)=x"-2x"=2x"+5,¢=3]
2=[p(x)=x"+x—x+3,c=-2]

-3
NoOI=|.3=|p(x)=—10x+1 +5x2+6x3,c=ﬂ

2
.4=[p(x)=3x3—11x2+12x+2,c:ﬂ

A=[b(x)=x- l,a(x):x4—x2+m+3x]
2=[b(x)=x+3,ax)=mx +x +2x" +9]

No02 = )
J=[b(x)=x-m,a(x)=x"—-6x—1,r=-6]
4=[b(x)=2x—- 1,a(x):x+8x4—4x3—5+mx2,r:—4]
| d=[p(x)=x =3~ 16x +48] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"+27]
No03 - 4=[p(x)=x"-81]

S=[p(x)=x"+10x +27x° +2x—-40]
G6=[p(x)=x"-3x-11x*+19x-6]
T=[p(x)=15x —43 x" = 14 x + 24]

4 3 2
L.8=[p(x)=20x" —27x =71 x"+ 108 x — 36
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKKXKKXKXKKXKKXKKKXKXKK




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00023XX
Real02 for No.11191

d=[p(x)=x"-5x"+5x"=2,¢=3]
2=[p(x)=x"+4x+3x"=3,c=-2]

3
No0l = .3:{mx):—2x+4+2xA+x3—6x{c=5}

-4
.4=[p(x)=6x4+8x3—6x2—17x—17,c=ﬂ

d=[b(x)=x—1,a(x)=x"=5x +mx+1]
No02 = .2=[b(x):x+3,a(x)2=mx3+x44—4x:15]
3=[b(x)=2x-3,a(x)=4x —4x+4x —6X +m,r=-6]
4=[b(x)=x-m,a(x)=x"—2x—8,r=-5]
= [px)=x’+x’-16x-16] |
2=[p(x)=x"-20x"+64]
3=[p(x)=x"+64]

4 =[p(x)=x"-256]
S=[p(x)=x'+4x +2x -x+6]
6=[p(x)=x*+4x’ — 152" — 58 x -~ 40]
T=[p(x)=12x +31 x> +24x+5]

4 3 2
LE=[p(x)=12x"—-x —88x"—61 x+30].
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXME/1-6600104-00024XX
Real02 for No.11309

No03 =

d=[p(x)=x"+2x"+5x+4,c=1]
2=[p(x)=x"+3x=2x-5,c=-3]

1
No0l = .3={mx)=2x3—x2+8x+3,c=5}

5
.4:{p(x):6x+ 15+6x"+ 10x3,c=;}

-]:[b(X)ZX—?),a(x):mX3+x4+4xz+18]
No02 = 2=[b(x)=x+2,a(x)=x"+5x"+mx+5x"+4]
3=[b(x)=2x-3,a(x)=6x+8x +10+mx’, r=1]
'4=[uﬁ)=x—nudx)=f+&0x+2%r=6]
[ op) =X +4r—dx—16] |
2=[p(x)=x'-5x"+4]
3=[p(x)=x"+1]
No03 = 4 =4[p(x)3=x4 - 16]
S=[p(x)=x"-3x"-21x"+83x-60]
6=[p(x)=x" =72+ 1827 - 22x+12]
7=[p(x)=10x"—13x*=20x + 12]

4 3 2
L8=[p(x)=4x" +8x —17x"—12x+9]]
X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKKXKKXKXKKXKKXKKXKXKK




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00025XX
Real02 for No.12037

d=[p(x)=x"-2x"—4x-2,c=1]
2=[p(x)=x"+2x-x"-1,c=-2]

5
No0l = .3=[p(x)=18x+7—28x2+8x3,c=ﬂ

-5
[p(x) 6x +10x°+3,c= 3}

Ad=[b(x)=x-2,a(x)= mx3+x4+3x2—12]
2=[b(x)=x+1,a(x)= xt—xr+m—4x]

3:[b(x)—2x+3,a(x)—8x +14x° +14+mx,r=2]

4:[b(x):x—m,a(x):x2+x—23,r=7]

L I=[p(x)=x+3x-16x-48] |
2=[p(x)=x"—26x"+25]
3=[p(x)=x"+1]
4=[p(x)=x"~1]
S=[p(x)=x'-23x"+18x+40]
=[p(x)=x"—4x —6x"+11x-2]
J=[p(x)=8x—6x"=59x+15]

=[p(x)=6x"+x —39x" =49 x— 15].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00026XX
Real02 for No.12454

No02 =

No03 =

]—[p(x) x4—2x3—5x2+1c—3]
=[p(x)= XX —2x+1,c=-1]

5
NoOl =| 3=|p(x)=—2x+12+4x" - 10x3,c:E:|

{p(x) 3xt+x -7, c—-;}

.]:[b(x)zx—Z,a(x):x4—2x2+m—x]
2=[b(x)=x+3,a(x)=x"+mx"+2x +3x—18]
3:[b(x):x—m,a(x):xz—x—32,r:-2]
4=[b(x)=2x+3,a(x)==6x-16—-12x"+6x" +mx’, r=-7]
I =[p(x)=xX"+4x-9x-36] |

2=[p(x)=x"—29x"+100]
3=[p(x)=x"—125]
4=[p(x)=x"-625]
[p(x) X+4x— 1757 =24 x+36]
=[p(x)=x"=7x +8x"+13x—-3]
—[p(x)=10x3+13x2—13x+2]

4 3 2
S=[p(x)=12x" -5x" -46x"+29x+10]
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKXKXXKXKXKXKKXKXKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00027XX
Real02 for No.12483

d=[p(x)=x"-5x"+4x+1,c=2]
2=[p(x)=x'+4x+2x"+5,c=-3]

-5
No01 = .3=[p(x)=—7x+15—6x2+10x4+25x3,c=ﬂ

4
.4=[p(x)=—29x3+12x2+15x4—7,c=ﬂ

A=[b(x)=x- 1,a(x)=x4+mx2+3x—7]
2=[b(x)=x+3,a(x)=mx +x +4x" = 9]
3=[b(x)=3x+La(x)=3x"+12x"+4x - 1+mx,r=-1]
4=[b(x)=x-m,a(x)=x"—11x+23, r=-7]
I d=[p(x)=x=3x"—x+3] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"=27]
4=[p(x)=x"—-256]
S=[p(x)=x"+x -3 +7x-6]
6=[p(x)=x"+x —18x" =16 x+32]
T=[p(x)=15x +x" - 46 x + 24]

L8=[p(x)=10x"—17x" =19 + 20 x + 12].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00028XX
Real02 for No.12557

No02 =

No03 =

d=[p(x)=x"-4x+4x+3,c=3]
2=[p(x)=x"-x"=5x+3,c=-1]

3
No0Ol=| 3= p(x)=—8x+8+6x3—5x2,c=5}

-4
.4=[p(x)=6x4+8x3—6x—14,c=ﬂ

.]:[b(x)=x+3,a(x):x4+3x3+mx—12]
2=[b(x)=x—1la(x)=x"+mx +x —=5x+3]
3=[b(x)=x-m,a(x)=x"+2x-3,r=5]
.4:[b(x):3x+l,a(x):—x2+15x4+6x—5+mx3,r:—7]
I d=[p(x)=x—d4x —x+4] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+125]
4=[p(x)=x"-1]
.5=[p(x):x4+5x3—x2—23x—6]
6=[p(x)=x"-8x"+7x"+36x—36]
J=[p(x)=8x—2x"—13x-3]

4 3 2
L.8=[p(x)=10x"-21x"—=36x"+77 x—30]4
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKKXKKXXKKXKKKXKKXX KKK KKK XKKKKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00029XX
Real02 for No.12637

d=[p(x)=x"—4x+5x+2,¢=3]]
2=[p(x)=x"+3x—x+5c=-2]

1
No0l = .3=[p(x)=8x2—2x—3,c=5}

-1
.4=[p(x)=—8x—2+12x2,c=?}

.]:[b(x):x—3,a(x):x4+mx—5x2—24]
2=[b(x)=x+Lax)=x"-3xX+m+5x]

No02 = )
d=[blx)=x-m,a(x)=x"+12x+41,r=6]
4=[b(x)=2x-3,a(x)=—4x-1+10x" +mx’, r=-7]
I I=[p(x)=x-4x"—4x+16] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x—8]
NoO3 — 4=[p(x)=x"-16]

S=[p(x)=x"+5x—16x>— 68 x — 48]
6=[p(x)=x"-8x"+18x - 13x+2]
J=[p(x)=8x"+22x"+3x— 18]

L8=[p(x)=15x"—23x" =34 + 28 x + 24].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00030XX
Real02 for No.12689

d=[p(x)=x"-3x"-5x+2,¢c=2]
2=[p(x)=x"+4x —x+5,c=-3]

1
NoOl = .3=[p(x)=6x4—2x3—7,c=gJ

-3
.4:{p(x):—2x— 18+2x3+7x2,c:z}

.]=[b(x):x—1,a(x)=x4+mx2—3x+7]
2=[b(x)=x+3,a(x)=x"+3x +m-3x]

No02 = ; )
3=[b(x)=2x+3,a(x)=8x" +14x" —4+mx,r=-7]
A=[b(x)=x—ma(x)=x"—11x+32,r=2]
i d=[p(x)=x—4x"—4x+16] |
2=[p(x)=x"-20x" +64]
.3=[p(x)=x3— 1]
No3 = 4=[p(x)=x"—1]

S=[p(x)=x"+7x +18x*+22x+12]
G6=[p(x)=x"+3x -7x" =27 x-18]
7=[p(x)=8x-10x*-=39x-9]

4 3 2
L8=[p(x)=8x —22x"—47x"+ 133 x - 3014
X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKKXXKKXXKKXKKXXKKXKKKXKKXKK




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00031XX
Real02 for No.13349

d=[p(x)=x"-3x"+x"=3,¢=3]
2=[p(x)=x"+x +3x+4,c=-1]

2
NoOI = ,3:{p(x)=—20x3+8x2+12x4—9x+3,c=§}

-1
.4=[mﬁ)=8x2+4x—4yc=zl

.1:[Nﬁ):x—La@):f—3xawnx+f+4]
NoO2 - .2=[b(x)=x+1,a(x)=1;1x3+x4+x—5]
d=[bx)=x-m,a(x)=x"+9x+ 18, r=4]
4=[b(x)=3x+4,a(x)=2x+3+9x +mx’, r=-5]
[ I=[p)=x - —4x+4] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"+125]
4=[p(x)=x"—625]
S=[p(x)=x"—4x =13 x>+ 64 x — 48]
G6=[p(x)=x"+8x"+22x*+23x+6]
7=[p(x)=20x+9x* =50 x +24]

4 3 2
LE8=[p(x)=9x +9x —55x"+7x+30]
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/1-6600104-00032XX
Real02 for No.13519

No03 =

.]:[Mx%:f—5x2—4x—ic:3]
2=[p(x)=x"+3x+x"+2,c=-2]

NoOl=| 3= mw)=6x4+2x3—6x—8,c:§i
-4:{Nﬁ)=4x4+6x3—4x2+4x_1702%}
d=[b(x)=x-2,a(x)=mx +x"+4x" +8]

No02 = 2=[b(x)=x+1,a(x)=x"+mx—-3x"+5]

3=[b(x)=x—m,a(x)=x"—x—9, r=-3]
4=[b(x)=3x—-1lax)=6x"-2x-12x+m,r=1]
 I=[p(x)=x"+4x —25x—100] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"—64]

NoO3 .4:£p(x)?x4—635]
S=[p(x)=x"-8x" +17x" +2x—-24]
H=[p(x)=x"+x -3 +7x—6]
7=[p(x)=20x"+3x*—14x+3]

4 3 2
L8=[p(x)=10x"—49x" +57x"+9x—27]]
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00033XX
Real02 for No.14276

d=[p(x)=x"-3x"—x-4,¢c=3]
2=[p(x)=x"-5x"—x+5c=-1]

5
No0I = .3:[p(x):28x—24+2x4—5x3—8x2,c=5}

-1
.4={p(x)=—3x+3+12x4+4x3,c=?}

A=[b(x)=x- l,a(x):x4—4x3—x2+m]
2=[b(x)=x+2,a(x)=x'+4x + mx+10]
3=[b(x)=x—-m, a(x):x2—2x—8,r:7]
4=[b(x)=3x-2,a(x)=3x+9x"—6xX +8+mx’, r=6]
= [p(x)=x-3—4x+12] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"—1]
4=[p(x)=x"-81]
S=[p(x)=x"-10X+17x"+52x-60]
H=[p(x)=x"+x -9x+5x+2]
T=[p(x)=6x +29x"+36x+9]

| 8=[p(x)=8x"+18x =27 x*—67x—30]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00034XX
Real02 for No.14331

No02 =

No03 =

d=[p(x)=x"-4x +5x"=2,¢=2]
2=[p(x)=x"+x +2x-4,c=-1]

-1
No0l = 3= p(x)=—3+8x2,c=ﬂ

1
.4=[p(x):12x2+2x+6x4—2x3—7,c:§}

A=[b(x)=x+ 1,a(x)=x4+mx—3x2— 1]
2=[b(x)=x-3,a(x)=x"-2x +m—4x]
3=[b(x)=3x—la(x)==3x"-5x+12x"+7+mx’, r=5]
4=[b(x)=x—m, a(x):xz— 12x+41,r=6]
= [p(x)=xX+4x—4x-16] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"+38]
4=[p(x)=x"-625]
S=[px)=x"+2x-31x*=32x+60]
Gb=[p(x)=x"-4x —6x"+11x-2]
J=[p(x)=10x+33x"+23x—6]

4 3 2
L8=[p(x)=20x"—67x"+83x"—45x+9]]
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00035XX
Real02 for No.14360

d=[p(x)=x"-2x"+5x-5,c=2]
2=[p(x)=x"+4x—2x+1,c=-3]

4
No0l = .3:[p(x)215x4+20x3+9x+IO,CZ?J

1
.4={p(x)=8x4—4x3—4x2—6x—3,c=5}

.1:[b(x):x—3,a(x):x4—2x3+mx—15]
2=[b(x)=x+2,a(x)=x"+mx’—4x—8]

No02 = 5 , )
d=[bx)=2x+1,a(x)=8x"+10x +5x +m, r=-5]
4=[b(x)=x—m,a(x)=x"—3x—24,r=4]
| I=[p(x)=x-3x"—4x+12] ]
2=[p(x)=x"—20x"+64]
3=[p(x)=x"—125]
NoO3 — A4=[p(x)=x"-1]

S=[px)=x"-x-19x" = 11x+30]
G6=[p(x)=x'"-x"—15x"-Tx+6]
J=[p(x)=8x+18x"—11x—15]

L 8=[p(x)=16x"—40x" =3 x*+43x-10]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00036XX
Real02 for No.14380

.]:[p(x):x4—5x2+5x—1,0:2]
2=[p(x)=x'+5x+5x"+4,¢c=-3]

3
NoOI =| .3 = p(x)=—6x+4+8x4—12x3,c=ﬂ

5
.4={p(x)=3x3+14x2+15x—6,c=;}

.]:[b(x):x+3,a(x):x4+mx2+4x3—9]
2=[b(x)=x-2,a(x)=x"+x"+m—2x]
3=[b(x)=2x+1la(x)==2x"+8x"—8x-9+mx’, r=-5]
.4:[b(x):x—m,a(x):x2—7x+8,r:2]
d=[p(x)=x-3x—x+3] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+38]
4=[p(x)=x"—1]
S=[px)=x"-x-19x" = 11x+30]
H=[p(x)=x"-3x+x"=5x+6]
J=[p(x)=10xX+9x*-3x-2]

4 3 2
L8=[p(x)=15x -13x - 13x"+13x-2]]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKXKXXKXKXKXKKXKXKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00037XX
Real02 for No.14393

d=[p(x)=x"-3x-2x-4¢c=1] |
2=[p(x)=x"+2x-4x"=2,c=-3]

)
NoOl =| 3= p(x):3x2+5x+12x4+8x3+9,c:—}

5
'4:{13(75):—16)63—10x2+6x—8+8x4,c=—:|

.Iz[b(x):x+l,a(x):x4+mx2—5x3+x—5]
No02 - .2:[b(x)zx—3,a(x):x4—22x3+mx—3x2]
J=[bx)=x-m,a(x)=x"—-x—-1,r=5]
4=[b(x)=3x+2,a(x)=2x-3+12x"+mx,r=1]
I I=[p(x)=x —x*—4x+4] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"=27]

NoO3 — .4:4[p(x)3=x4—126]
S=[plx)=x"+9x +24x " +19x+3]
G6=[p(x)=x"—10x"+25x" - 36]
7=[p(x)=20x-13x>-13x+6]

L8=[p(x)=12x"+41x+20x" - 43 x—=30]_
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6600104-00038XX
Real02 for No.14418

.]:[p(x):x4+x3—5x+5,c:2]
2=[p(x)=x'+4x+5x - 1,¢=-3]

)
NoOl =|.3 = p(x)=—2x+7—12x2+9x4+6x3,c=_}

1
.4={p(x)=4x+1+2x4—x3,c:5}

I=[b(x)=x-3,a(x)=x"=3x" +m—x]
No02 = '2:[b(x):x+laa(x)=x4+5x3+mx—x2+5]
3=[b(x)=3x+5,a(x)=-20x+3x" +5X +5+mx’, r=5]
A=[b(x)=x—-m,a(x)=x"+2x—1,r=2]
| I=[p(x)=x"+5x"-16x-80] |
2=[p(x)=x"-13x"+36]
3=[p(x)=x"-64]

No03 = -4=4[p(>c)3=x4 —281]
S=[p(x)=x"+5x —5x —45x—36]
G=[p(x)=x"+x —4x"+5x-3]
7=[p(x)=20x"—x" =17 x +4]

4 3,2
L8=[p(x)=8x —18x"+x"+ 18 x—-9]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6600104-00039XX
Real02 for No.14419

d=[px)=x"-2x"+x"+4,¢c=1]
2=[p(x)=x"+3x+x"=2,c=-3]

5
No0l = .3=[p(x)=6x—17+9x4—15x3,c=ﬂ

-5
.4=[p(x)=6x+16+6x4+23x3+20x2,c:;}

A =[b(x)=x-2, a(x):x4+x3+m—4x]
2=[b(x)=x+Lax)=x'+mx—x"—5]

No02 = N
J=[b(x)=x-m,a(x)=x"-9x+12,r=-6]
4=[b(x)=3x+4,a(x)==5x"-15x+mx, r=4]
| J=[p(x)=x—x*—25x+25] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—125]
NoO3 4=[p(x)=x"—625]

S=[p(x)=x"+8x +17x*—2x—-24]
H=[p(x)=x"+2x" +x+2]
T=[p(x)=6x=25x"+21x+10]

4 3 2
L8=[p(x)=10x*-27x - 60+ 163 x — 30].
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